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1.  Who said: “Directive Principles of State Policy are the Conscience of the Constitution 

which embody the social philosophy of the Constitution” 
A)   B.R. Ambedkar    B)  Granville Austin 
C)  Ivor Jennings   D)  Thakur Das Bharghava 
 

2.  Which of the following recommended that Union may persuade the State governments for 
constitution of an All India Service for Education? 

  A)   Sarkaria Commission  B)  First Administrative Reforms Commission 
  C)  Punchi Commission  D)  Second Administrative Reforms Commission 
  
3.  Which one of the following is not correct? 
  A)   For Machiavelli and Hegel, the state is based on force. 
  B)   For J.S. Mill and T.H Green, consent is the basis of state 
  C)  In Marx’s view, the state is an instrument of class exploitation. 

D)  In Gandhian philosophy, the propertied classes should be persuaded to employ their 
resources to balance common good. 

 
4.  Which one of the following has not been advanced by Gabriel Almond as a category of 

Interest Group? 
  A)   Institutional Interest Groups  
  B)   Associational Interest Groups 
  C)     Non-Associational Interest Groups  
  D)  Attitudinal Interest Groups 
 
5.  Which one of the following is not the characterization of a Prismatic Society? 
  A)     Polynormativism  B)  Overlapping 
  C)     Institutionalisation  D)  Elite Domination 
 
6.  According to Huntington, which of the following countries /regions can be considered as 

coming under the ‘third wave’ of democratization? 
  A)     Japan and Germany  B)  India and Israel 
  C)    Britain, France and USA D)   Southern and Eastern Europe 
 
7.  Which one of the following pairs is not correctly matched? 
  A)  Positivism                  -        Leo Strauss 
  B)  Post –Modernism            - Jacques Derrida 
  C)  Feminism                           -  Simon de Beauvoire      
  D)  Post Structuralism         -  Michael Foucault 
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8.  Given below are two statements, one labeled as Assertion (A) and the other Reason (R) 
  Assertion (A):  According to Lucian Pye, political development is characterized by  
      equality, capacity and differentiation. 
  Reason (R) :     A state should attempt to strengthen these aspects of development 

 
A) Both (A) and(R) are true and (R) is the correct explanation of (A) . 
B) Both (A) and(R) are true but (R) is not the correct explanation of (A) 
C) (A) is true but (R) is false. 
D) (A) is false but(R) is true. 

 
9.  ‘The Hague Code of Conduct’ relates to- 
  A) Control over ozone depleting chemicals. 
  B) Limit underground nuclear weapons tests. 
  C) The transfer of missiles and parts 
  D) The prohibition of bacteriological weapons. 
 
10.  The jurisdiction of International Court of Justice are - 

A) Original, Voluntary and Compulsory. 
   B) Voluntary, Advisory and Appellate 
   C) Negotiation, Advisory and Appellate 
   D) Voluntary, Compulsory and Advisory  
 
11.  Who conceived the International system as ‘Analytical Entity’? 

A) Zimmerin   B)  Morton Kaplan 
C)    Weiner    D)  Woodrow Wilson 

 
12.  Which of the following is correctly matched? 
  A)   Mexico Women’s Conference    -    1975 
  B)   Copenhagen Women’s Conference     -         1985 
  C)     Nairobi Women’s Conference         -          1993 
  D)     Beijing Women’s Conference             -          1996 
 
13.  The Speaker of Lok Sabha is the President of all the Parliamentary Forums except the- 
  A)   Parliamentary Forum on Population and Public Health 
  B)     Parliamentary Forum on Global Warming and Climate change 
  C)     Parliamentary Forum on Water Conservation and Management 
  D)     Parliamentary Forum on Children 
 
14.  Given below are two statements, one labeled as Assertion (A) and the other Reason (R)  
  Assertion (A) :   Lokayuktas have been appointed in all the states of India. 

Reason    (R) :    An independent institution is required to address the grievances of the  
      people against the action of civil servants. 
 
A) Both (A) and (R) are true and (R) is the correct explanation of (A) 
B) Both (A) and (R) are true but (R) is not the correct explanation of (A) 
C) (A) is true but (R) is false 
D) (A) is false but (R) is true 
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15.  The Hawthorne Experiments of Elton Mayo revealed the importance of  

A) Standardisation of work procedure 
B) Informal social forces in the organization 
C) Payment on Group basis. 
D) Management response to worker’s demands 

 
16.  Who among the following developed the view that “political process is essentially a 

decision making process and all factors relevant to the making of decisions can be 
subjected to systematic empirical examination”?   
A) Harold Lasswell  B) Richard Snyder 
C)  Gabriel Almond  D)  James Coleman 

 
17.  Match List I with List II and select the correct answer using the codes given below.  

              List I (Provision)                                List II (Article) 
a. Constitution of Municipalities       1.  Article 243Q 
b. Reservation of seats in Municipal bodies  2.  Article 243T 
c. State Finance Commission   3.  Article 243Y 
d. Duration of Municipalities    4.  Article 243U    
                                                                                                                                                                                                                           
Code:  a b c d 
 
A)        3          4          1          2 
B)        1          2          3          4 
C)        3          1           2         4 
D)        1          4           2         3 
 

18.  The Economy Cut Motion seeks to reduce the proposed expenditure of a demand for grant by-  
  A) Rupees One Hundred   
  B)    Rupee One 
  C)    A Specified Amount   
  D)    An Unspecified Amount 
 
19.  The Thesis ‘National Dividend for India: A Historical and Analytical Study’ belongs to 
  A)  Dadabhai Naoroji  B)    B.R. Ambedkar 
  C)   Ram Manohar Lohia  D)    M.N. Roy 
 
20.  Plato is called the father of the idealist theory of the state because 
  A)  he prescribed the ideals of city state 
  B)  his theory was based not on what human nature is but on what it ought to be  
  C)   he postulated a dualism between reality and value. 
  D)  he based his theory on the idea of the  good. 
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21.  Match List I with List II and select the correct answer using the code given below. 
   List I        List II 
  a. The Function of the state is ‘Hindrance to Hindrances’ 1.   Harold Laski 
  b.   ‘That Government is best which governs the least’ 2.   Jeremy Bentham 
  c. ‘The state should promote greatest good of the  
   greatest number’      3.   T.H. Green   
  d. ‘The state is not absolute …..it is pluralistic  and       
   federal as society is federal’     4.   J S Mill 
    
  Code:  a b c d 
  A)  3          4          2          1 
  B)       4          3          1          2 
  C)      3          4          1          2 
  D)       4          3          2          1 
  
22.  Which one of the following is not correctly matched? 
  A)  Sociological Approach - Catlin 
  B)  Philosophical Approach - Leo Strauss 
  C)  Historical Approach  - John Rawls 
  D)  Integrated Approach  - Carl. J. Friedrich 
 
23.  Which one of the following relates to ‘direct people to people interaction’? 
  A)  Track II Diplomacy  B) Track III Diplomacy 
  C)  Track IV Diplomacy  D) Track V Diplomacy 
 
24. Who characterized Indian Federation as ’Bargaining Federation’? 
 A) Morris Jones   B) K.C. Wheare 
 C) A.V. Dicey   D) Ivor Jennings 
 
25.  Which of the following documents first declared that ‘All men are created equal’? 

A)   Magna Carta    
B)    Petition of Rights 
C) Declaration of Independence, 1776  
D)    Declaration of Rights of Man, 1787. 

 
26.  Which one among the following is correctly matched? 
  A)  Theory of Centre-Periphery  - Rosa Luxumberg 
  B)  Theory of Hegemony  - V.I. Lenin 
  C)  Theory of Neo-Colonialism - K Nkrumah 
  D)  Theory of Underdevelopment - Robert Cox 
 
27.  Which of the following terms relates to Huntington? 
  A)  Circuit of Capitals  B) New Age 
  C)  Managed Democracy  D) West and Rest 
 
28.  Strategic Offensive Reduction Treaty (SORT) was signed by 
  A)  Bush and Gorbachev  B) Bush and Yeltzin 
  C)  Bush and Putin  D) Reagen and Gorbachev 
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29.  Which of the following statements is correct? 
  A)   The Constitution of India clearly lays down what its basic structure is. 
  B)  The Supreme Court of India has elaborately defined the basic structure of the 

Constitution. 
  C)  The Law Commission of India has defined the basic structure of the Constitution 
  D)  Neither the Supreme Court nor the Parliament have defined the basic structure of 

the Constitution  
 
30.  Which one of the following is a drawback in Max Weber’s bureaucratic model? 
  A)  Lack of normative factors as guiding action  
  B)  Lack of legal rational principles 
  C)  Lack of a theoretically integrated total system of action 
  D)  Lack of rule of law upon the functioning of bureaucratic organization.     
 
31.  “A party-less regime is a conservative regime, an anti-party regime is a reactionary 

regime”- Who made this statement? 
  A) Maurice Duverger  B) Edmund Burke 

C)  Sartori    D)  Schumpeter 
 
32.  Given below are two statements, one labelled as Assertion (A) and the other Reason (R) 

 Assertion (A) :  Scientific Management believed that the most efficient organization is the  
     most satisfying one. 
 Reason (R) :     Human Relations School believed that the most satisfying organization is 
      the most efficient organization. 

    
  A)  Both (A) and(R)  are true but (R) is not the correct explanation of (A). 
  B)   Both (A) and(R) are true and (R) is the correct explanation of (A) 
  C)  (A) is false but  (R) is true 
  D)  (A) is true but (R) is false 
 
33.  Who of the following served as the Acting Secretary General of the UN? 
  A)  Dag Hammarskjold  B) U Thant 
  C)  Kurt Waldheim  D) Perez de Cueller 
 
34.  The Chairman of the National Human Rights Commission holds office for 
  A)  5 Years or until the age of 65 years, whichever is earlier 
  B)  6 years or until the age of 65 years, whichever is earlier 
  C)  5 Years or until the age of 70 years, whichever is earlier 
  D)  6 years or until the age of 70 years, whichever is earlier 
 
35.  Who said “The state is nothing more than a machine  for the oppression of  
  one class by another”? 
  A)   Marx  B)  Lenin  C) Stalin  D)      Engels 
 
36.  The status of India in ‘Arctic Council” is  
  A)  Member   B)  Associate Member 
  C)  Observer   D) Dialogue Partner 
 
37.  South Africa joined as a member of ‘BRICS’ in the year  
  A)  2010  B) 2011  C) 2012  D) 2013 
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38.  Whose idea was ‘Common European House’? 
  A)  Gorbachev   B) Fidel Castro 
  C)  Henry Kissinger  D) Margaret Thatcher 
 
39.  “The imagery of a self -governing demos is either a deceptive myth or a demogogic 

device” Who said? 
A)  Pareto  B) Lucian Pye C) Robert Dahl D) Sartori 

 
40. Match List I and List II and select the correct answer using  the codes given below. 
  List I (Subject)    List II(Part of Constitution of India) 

 
a. Finance, Property, Contracts and Suits 1.      Part V 
b. The Union Judiciary    2.      Part XII 
c. The Executive of States   3.      Part XI 
d. Relations between Union and States  4.      Part VI 

 
Code :  a b          c           d  

 A) 4          3          2           1 
  B)    2          1          4           3 
  C)     4          1          2           3 
  D)    2          3          4           1 
 
41. Who identified Political Development with multi-dimensional social change? 
  A)  Edward Shils   B) Harold Lasswell 
  C)  Barbara Ward   D) Daniel Leaner 
 
 42.  Arrange the following reports of Kofi Annan in chronological order 
  1. Inventing in the UN :  For a stronger organization Worldwide. 
  2. Renewing the UN    :  A Programme for Reform 
  3. In Larger Freedom  :  Report for Reforms of ECOSOC. 
  4.   Strengthening the UN :  An Agenda for further change. 
   
  A)  2, 1, 4, 3 B) 2, 4, 3, 1 C) 4, 2, 1, 3 D) 4, 3, 2, 1 
 
43.  Robert Michels propounded his ‘Iron Law of Oligarchy’ in his work- 

A) Political Parties: A Sociological study of the oligarchial tendencies of Modern     
Democracy 

  B)  The Mind and Society  
  C)  Power Elite 
   D)  Democratic Theory: Essays in Retrieval. 
 
44.  ‘Rule of Lapse’ means 
   A)   All appropriations voted by the Legislature expire at the end of the financial year 
  B)  All pending bills in Parliament lapse with its prorogation 
  C)  The demands for grants of a ministry lapse with criticism of its policy by the 

opposition 
  D)  The appropriation bill lapses if it is not returned by the Rajya Sabha within 14 days 
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 45. The United Nations Framework Convention on Climate Change (UNFCCC) is an 
international treaty drawn at: 
A)  UN Conference on the Human Environment, Stockholm, 1972 

  B)  UN Conference on Environment and Development, Rio de Janeiro, 1992 
  C)  World Summit on Sustainable Development, Johannesburg, 2002 

D)  UN Climate Change Conference, Copenhagen, 2009 
 
46. Match List I with List II and select the correct answer using the codes given below 

 List I (Report)      List II (Year) 
   
  a. Appleby Report   1. 1944 
  b. Gorewala Report    2. 1951  
  c. Assheton Report   3. 1953 
  d. Fulton Report   4. 1966 

  
 Code : a  b  c   d 

 A) 3           2          1           4  
B) 3           2          4           1 

 C)  2           3          4           1 
 D)  2           3          1           4  
 
47.  Which of the following three countries include the ‘ASEAN Plus Three’ Group? 
  A)  Japan, China, Russia  B) China, India, Japan 
  C)  China, Japan, South Korea D) China, Russia, India 
 
48.  Universal Periodic Review (UPR) refers to – 
  A) A  process by which a review of human rights records of all member states of UN 

is done. 
B) A procedure which publicly report on human rights situations in specific countries. 

  C)   A device that monitors implementation of international human rights treaties. 
  D)  An arrangement to support for the meetings of Human Rights Council. 
 
49.  Who said “The trouble with the Balance of Power is not that it has no meaning but that it 

has too many meanings”  
A) Morgenthau   B) Quincy Wright 
C) Inis L Claude   D) E.H. Carr  

 
50.  The term of office of the President of France is 
  A)  4 Years B) 5 Years C) 6 Years D) 7 Years 
 
51.  The present Constitution of China was adopted in 
   A)  1975  B) 1978  C) 1982  D) 1988 
 
52.  Identify the theorists who proposed the following classification 

1.  Pseudo-Pressure Groups  2.  Community Interest Groups 
3.  Anomic Interest Groups 
 
A) Duverger, Jean Blondel, Almond 
B) Jean Blondel , La Palambora, Almond 
C) Almond, Duverger, Bentley 
D) Duverger, Almond, Robert Dahl    
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53.  Match List I with List II and select the correct answer using the codes given below 
 List I (Books)       List II (Authors) 

 
a. India Against Itself    1.   Achin Vinayak 
b. The Painful Transition: India’sBourgeois- 2.   Partha Chatterjee  

Democracy 
c. Ethnic Conflict and Civic life: Hindus and- 3.  Sanjib Baruah 
 Muslims in India 
d. Nationalist Thought and the Colonial World 4.  Ashutosh Vashney 

A Derivative Discourse 
   
  Code : a b c d 
  A)        3          1          4          2 
  B)       3          4          2          1 
  C)        1          3          4          2 
  D)        4          3          2          1 
 
54.  The Concept of ‘gradualness as the midwife of social change’ was accepted by 

A) Marxists   B) Democratic Socialists 
C)  Syndicalists   D) Anarchists 

 
55.  Untouchability Offences Act passed by Parliament of India in 1955 has been renamed as  
  Protection of Civil Rights Act in the year- 

A) 1974  B) 1975  C) 1976  D)  1977 
 
56.  In Indian Constitution the principle of ‘Double Jeopardy’ is implied in 

A) Clause 2 of Article 19  B) Clause 2 of Article 20 
C)  Clause 2 of Article 22  D) Clause 5 of Article 19 

  
57.  Who coined the term ‘communitarianism’? 

A) Jean Blondel B) Barmby C) V.O Key D) M Sandel 
 
58  Which amendment of American Constitution laid the principle of ‘Due Process of Law’? 

A) Third amendment  B) Fourth amendment 
C)   Fifth amendment  D) Sixth Amendment 

 
59.  “Political Socialisation may be defined as those development processes through which 

persons    acquire political orientations and patterns of behaviour” - Whose view is this? 
A) David Easton   B) Almond and Powell 
C)  Almond and Verba  D) Alan R. Ball 

 
60.  How many qualities were prescribed by Taylor for a good foreman? 
  A)  7  B) 8  C) 9  D) 10 
 
61.  Who is known as a ‘Christian before Christ’? 
  A)  Plato  B) Aristotle C) Aquinas D) Bosanquet 
 
62.  Who described the state as “a partnership in all science, a partnership in all art, a 

partnership in every virtue and in all perfection”? 
A) MacIver B) Burke  C) T.H. Green  D) Aristotle 
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63.  Who described revolution as a subversion of the status quo and reorganization of society 
on the basis of freedom and equality?  

  A)  M.N. Roy   B) Ram Manohar Lohia 
  C)  M.K. Gandhi   D) B.R. Ambedkar 
 
64.  In which of the following years, India adopted its nuclear doctrine? 
  A)  2000  B) 2001  C) 2002  D) 2003 
 
65.  Which Amendment of Constitution of India enables to appoint a person as Governor in 

two or more States?    
  A)  7th Amendment  B) 13th Amendment 
  C)  15th Amendment  D) 16th Amendment 
 
66.  How many items are contained in the 11th Schedule of the Constitution of India? 
  A)  22  B) 24  C) 26  D) 29 
 
67.  “Political culture consists of a system of empirical beliefs, expressive symbols and values 

which defines the situation in which political action takes place”- Whose definition is this? 
  A)  Talcott Parsons  B) Sydney Verba 
  C)  Lucian Pye   D) Alan Ball 
 
68.  What is the correct chronological order of the following 
  1. START I          2. INF Treaty         3.  CTBT        4.  NPT 
  A)  2, 4, 3, 1 B) 4, 2, 3, 1 C) 4, 2, 1, 3 D) 4, 3, 2, 1 
 
69.  The concept of ‘Four-Pillar State’ is associated with 
  A)  Kautilya   B) Ram Manohar Lohia 
  C)  Ambedkar   D) M.N. Roy 
 
70.  In U S A, disagreement between House of Representatives and Senate is resolved by  
  A)  Joint sitting of two Houses  
  B)  Conference Committee 
  C)  Chief Justice of Supreme Court  
  D)  General House Committee 
 
71.  Who among the following viewed that ‘Governmental Sense’ and ‘Political Sense” are 

major attributes of good administrative leadership? 
  A)  L.D. White   B) Chester Bernard 
  C)  Paul Appleby   D) Simon 
 
72.  ‘Rabble Hypothesis’ is associated with 
  A)  Herzberg B) Mayo  C) Maslow D) Taylor 
 
73.  John Rawl’s book Theory of Justice was published in 
  A)  1969  B) 1970  C) 1971  D) 1972 
 
74.  Under which Ministry of Government of India, the Department of Official Language 

functions? 
  A)  Ministry of Home  
  B)   Ministry of Culture 
  C)  Ministry of Human Resources Development 
  D)  Ministry of Information and Broadcasting. 
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75.  Match List I with List II and select the correct answer using code given below 
  List I (Books)     List II(Authors) 
  a. The Transfer of Power  1.   Azgar Ali Engineer 
 b. Politics in India   2.   Zoya Hassan 
 c. Politics and the States in India 3.   Rajni Kothari  
 d. Secularism and Pseudo-Secularism  4.   V P Menon 
   
  Code:  a b c d        
 A) 4          3          2           1 

B) 4          1          3           2 
C) 3          1          4           2 
D) 2          3          4           1 

  
76.  In which country ‘the Doctrine of Co-Directorship’ prevalent as a method of control over       

administration? 
 A) USA  B) France  C)     China  D) U K 
  
77. Who classified bureaucracy as ‘Cosmopolitans’ and ‘Locals’? 
 A) La Palambara   B) Etzioni 
 C)     M.P. Follet   D) Alvin Gouldner 
 
78. The Association of South East Asian Nations (ASEAN) was established by 
 A) Bangkok Declaration  B) Singapore Declaration 
 C) Manila Declaration  D) Colombo Declaration 
 
79. Formal end of Cold War took place at 
 A) London Summit of NATO, 1990 
  B)  Camp David Agreement of 1990 
  C)  Algiers Conference of 1991 
  D)  Brussels Conference of 1991 
 
80.  Match List I with List II and select the correct answer using the code given below 
  List I     List II 
  a.  Velvet Revolution             1.  Ukraine 
  b.  Orange Revolution   2.  Kyrgyzstan 
  c.  Rose Revolution   3.  Czechoslovakia 
  d.  Tulip Revolution   4.  Georgia 
   
  Code :  a b c d         
 A)         2         1         4           3    
  B)         3         4         2           1 
 C)         4         3         2           1 
            D)         3         1         4           2 
 
81.  How many goals are envisaged in ‘Millennium Development Goals-2000’ approved by 

General Assembly of UN? 
 A) 7  B) 8  C) 9  D) 10 
 
82.  In which of the following cases the Supreme Court of India opined ‘Judicial Review’ as 

basic structure of the Constitution of India? 
 A)  Minerva Mill Case   B) Indira Sawhney Case 
 C) S.R. Bommai Case  D) Kesavananda Bharati Case 
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83.  Which of the following types of Political Culture is marked by the absence of a sense of 
citizenship? 

  A)  Participant Political Culture B)  Subject Political Culture 
  C)  Parochial Political Culture D)  Civic culture 
 
84.  Match List I with List II and select the correct answer using the codes given below. 
  List I              List II 
  a. Dominant non-Authoritarian System   1. James Jupp 
  b. Broad One-Party System            2. Hitchner 
  c. Pluralistic Party System       3. Almond 
  d. State without Party System  4. Duverger 
   
  Code : a b c d 
  A)        3          1          4          2 
            B)        2          1          4          3 
  C)        4          1          2          3 

D)        4          3          1          2 
 
85.  State Reorganisation Commission of 1953 recommended to create- 
  A)  16 States and 3 Union Territories  
  B)  16 States and 5 Union Territories 
  C)  14 States and 3 Union Territories  
  D)  14 States and 6 Union Territories 
 
86.  According to Maslow, the correct sequence of the following ‘hierarchy of needs’ is 
   1.    Safety needs         2.   Esteem needs            3.   Social needs      
   4.    Self –actualisation needs                    5.    Physiological needs 
  A)  3, 4, 5, 2, 1   B) 5, 1, 3, 2, 4 
  C)  5, 4, 2, 1, 3   D) 3, 2, 1, 5, 4 
 
87.  The total membership of Constitutional Council in France is 
  A)  9  B) 15  C) 18  D) 21 
 
88.  Who said that ‘Parties are brokers of ideas’? 
  A)  Lasswell   B) Burke 
  C)  Lowell    D) Duverger 
 
89.  Who of the following are known as ‘Philosophical Radicals’? 
  A)  Anarchists   B) Utilitarians 
  C)  Individualists   D) Marxists 
 
90.  Who of the following deemed Social Contract as a ‘Biblical fall’? 
  A)  Hobbes   B) Locke 
  C)  Rousseau   D) J S Mill 
 
91.  Who categorised Intellectuals as ‘Traditional Intellectuals’ and ‘Organic Intellectuals’? 
  A)  John Rawls   B) Nozick 
  C)  Althusser   D) Antonio Gramsci 
 
92.  Who called auxiliary agencies as ‘House keeping’ agencies?   
  A)  Willoughby   B) L.D. White 
  C)  Mooney   D) Pfiffner 
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93.  Who pointed out three defects of Indian bureaucracy as Procrastination, Yesmanship and 

Corruption?            
  A)  Appleby   B) Gorewala 
  C)  Sardar Patel   D) Gopalaswamy Aiyyangar 
 
94.  Who divided Constitutions into Autocratic, Aristocratic, and Democratic? 
  A)  Montesquieu   B) Herman Finer 
  C)  Immanuel Kant  D) James Bryce 
 
95.  Who regarded the two Component parts of state as ‘repressive apparatus’ and ‘ideological 

apparatus’? 
  A)  Paulantzas   B) Habermas 
  C)  Adorno   D) Foucault 
 
96.  Given below are two statements, one labelled as Assertion (A) and the other as Reason (R) 
  Assertion (A) : Span of Control depends on personal qualities , skills and experience. 

Reason     (R) : Empirical studies have found that the Span of Control will be small if  
      organizational units are located at different places. 

       
  A)  Both (A) and (R) are true and (R) is the correct explanation of (A) 
  B)  Both (A) and (R) are true but (R) is not the correct explanation of (A) 
  C)  (A) is true but(R) is false  
  D)  (A) is false but(R) is true 
 
97.  Match List I with List II and select the correct answer using the codes given below. 
  List I     List II 
  a.  Cocoyoc Declaration      1.       1987 
 b.  Montreal Protocol            2. 1977 
  c.  Desertification Conference          3.       1976 
  d.  Habitat Conference           4.       1974      
   
  Code : a b c d 
     A)        2          4           1         3 
  B)        4          1           2         3 
  C)        4          3           2         1 
  D)        3          1           4         2   
 
98.  Who is the author of the Report entitled, ‘North-South: A Programme for Survival’? 
  A)  Willy Brandt   B) Brundtland 
  C)  Wangari Maathai  D) Barbara Ward 
 
99.  Which one of the following is not a feature of Government of India Act, 1935? 
  A)   Dyarchy at the Centre  B) All India Federation 
  C)  Dyarchy in the Provinces D) Provincial Autonomy 
 
100. Arrange chronologically the following Prime Ministers of India. 
  1.   I.K. Gujral              2.   Chandra Sekhar       3.     Deve Gowda 
  4.   Charan Singh        5.   V.P Singh    
      
  A)  5, 4, 3, 2, 1   B)  4, 5, 2, 3, 1 
  C)  2, 4, 5, 3, 1   D) 5, 2, 4, 3, 1 
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101. Which of the following is the first case for which President sought the advisory opinion of 

the Supreme Court of India? 
  A)  Berubari Union  B) Kerala Education Bill 
  C)  Delhi Laws Act  D) Sea Customs Act 
 
102. In which session of the Indian National Congress, Jawaharlal Nehru announced his 

conviction that ‘the only solution of the World’s problems and of India’s problems lies in 
Socialism? 

  A)   Karachi Session  B) Lucknow Session 
  C)  Bombay Session  D) Calcutta Session 
 
103. The name of the first major research study of Elton Mayo is - 
  A)  The Investigation  B) The First Enquiry 
  C)  Element of Glory  D) The Circular Pattern 
 
104. Who among the following rejected the principle of Unity of Command? 
  A)  Henry Fayol   B) Newman 
  C)  Urwick   D) F.W.Taylor 
 
105. New Public Administration laid emphasis on  
  A)  Administration  B) Economy 
  C)  Economy and Efficiency D) Values and Ethics 
 
106. ‘Political science is a master science, ‘architectonic’ in its character, from which all other 

practical sciences take their cue’-Whose view is this? 
  A)  Aristotle    B) Ernest Barker 
  C)  Laski    D) Finer 
 
107. Who states that ‘Political theory is not an escape mechanism but an arduous calling’? 
    A)  John Plamanetz  B) Nicos Paulantzas 
  C)  Louis Althusser  D) Jurgen Habermaz 
 
108. Who remarked “Gandhi is dead but Gandhism will live till the stars shine and oceans roll on”? 
  A)  Lord Mountbatten  B) Jawaharlal Nehru 
  C)  Dr. Rajendra Prasad  D) Jayaprakash Narayan 
 
109. Which of the following is not the work of M.N. Roy? 
  A)   India in Transition  B) India’s Message 
  C)  Politics, Power and Parties D) Problems of Asian Socialism 
 
110. Who characterised peasant as ‘sack of potato’ and ‘epitome of backwardness’?  
  A)  Karl Marx B) Lenin  C) Engels  D) Stalin 
 
111. Who labelled Congress as a ‘microscopic minority’? 
  A)  Lord Wellesley  B) Lord Rippon 
  C)  Lord Dufferin   D) Lord Curzon 
 
112. With regard to formation of federal system, arrange the following in ascending order. 
  1. Australia           2.   Canada         3.  Nigeria   4.   U S A 
   
  A)  4, 2, 1, 3 B) 4, 2, 3, 1 C) 4, 3, 2, 1 D) 2, 4, 1, 3 
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113. Which of the following Constitutions does not contain a Concurrent list? 
  A)  U S A  B) Russia  C) Canada D) Australia 
 
114.  Who gave the call of ‘deliverance day’? 
  A)  The Congress   B) The Muslim League 
  C)  The Hindu Mahasabha D) The Akal Takht 
 
115. Who made the statement:”Behind the Sovereign which the lawyer recognize, there is 

another Sovereign to whom the legal Sovereign must bow” 
  A)  Bodin  B) Austin  C) Dicey  D) Laski 
 
116. Who of the following is not an exponent of libertarianism? 
  A)  Hayek  B) Karl Popper C) Nozick  D) Althusser 
 
117.  ‘Federal Capital Territory’ (FCT) is the name of special unit of federation in 
  A)  Nigeria B) Canada C) Russia  D) Brazil 
 
118. Who of the following thinkers based Politics on Psychology, and Psychology on Physics, 

and Geometry? 
  A)  Montesquieu B) Rousseau C) Hobbes D) Bentham 
 
119.  Who described Indian Politics as ‘Politics of scarcity’? 
  A)  Myron Weiner   B) Paul Brass 
  C)  Atul Kohli   D) Morris Jones 
 
120.  Given below are two statements, one labelled as Assertion (A) and the other Reason (R) 

 Assertion (A) : According to Morgenthau’s realism, a foreign policy based on any other  
      considerations except the national interest is bound to meet failure 

  Reason (R)    :  Morgenthau does not precisely define national interest 
     
  A)  Both (A) and (R) are true and (R) is the correct explanation of (A) 
  B)  Both (A) and (R) are true but (R) is not the correct explanation of (A) 
  C)  (A) is true but(R) is false  
  D)  (A) is false but(R) is true 
 

______________________ 
 


